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13.2. BB=F7AFE(=)(Solving Trigonometric Equations —Part 2)
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® {1 : fiE 5 2sin@-cosB@=0
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2sin@—-cos=0
2sin 6 = cos &
2sin@/cosf=1
2tanf =1 (sin@/cos@=tanf )
tan6=1/2
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® {i+ g2 2sin6 =tanf
B RFETREEE AR tan 6 825 “sin 0 fcos @7 - B :
2sinf =tanf
2sin@ =sin@ /cos O
singd =1 = 2=1/cosf
sinf =1 g cos@=1/2

R =FAEE TR (BIHFR sin? 6 ~ cos?2 0 5% )
® 2sinO-7sin0+3=0
W ORFEHIE : sin@ = (sin0)°
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2sin? @ —7sin @ +3 =0
sinf=1/2 = sinf=3 (&L >HkE -1<sinf<1)

® 2c0s’A-7sinO+3=0
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2cos? 0 +sinf—-1=0
2(1-sin®0)+sinf-1=0
2sin*0+sinf+1=0
sin0=1 = sin0=-1/2
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